
PERUN MOTO YAMAHA TENERE 700 TIE-
DOWN BRACKETS - INSTALLATION 
INSTRUCTIONS 

Content of the kit 

• 2 x Tie-down brackets (LHS and RHS) 

• 4 x M8x20 button head TX bolt 

• 4 x M8 flat washer 

 

1. Remove stock passenger foot peg brackets. Undo the two bolts per side and 

remove the brackets.  

 



2. Clean the threaded holes.  

 

4. Install the RHS Tie-down bracket, as shown. Use provided M8x20 button head 

bolts and M8 flat washers from the underside. 

Use thread-locker (Loctite 243 or similar). Torque to 8-10 Nm.  

 

5. Repeat on the other side. 

6. After few rides, re-torque to spec.  

v 


	PERUN MOTO YAMAHA TENERE 700 TIE-DOWN BRACKETS - INSTALLATION INSTRUCTIONS

